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Balancing Scales

The mass of a paperclip is 10 grams. The mass of a coin is 20 grams. Draw small 
blocks of 10 grams each to balance the scales. 

2 paperclips  3 paperclips  

1 coin 1 coin 1 paperclip

1 coin  2 paperclips  3 coins  

4 paperclips  2 coins  2 paperclips
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Answers

2 paperclips  3 paperclips  

1 coin 1 coin 1 paperclip

1 coin  2 paperclips  3 coins  

4 paperclips  2 coins  2 paperclips

2 blocks

4 blocks

4 blocks

3 blocks

3 blocks

6 blocks

6 blocks

The mass of a paperclip is 10 grams. The mass of a coin is 20 grams. Draw small 
blocks of 10 grams each to balance the scales. 


